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ROSYTH |

Parent’s Signatire;

ipstriictions.to Pupils: -

1. Donot gpen the-booklet until you:are told ta do so.

2. Follow all instructions carefully; o

3. For questions 1 to 11, write the correct answer in the brackets provided:
4. Forquestions 12 1o 16, glve your answers inthe spaces provided.

Total

* This'booklet consists of _12 pinted pages.{including cover page):
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For-edeh question from-1 547, foeir optio
ariswer. Make your ‘choics (1,
provided.

‘answer In the: bracket

ne: of theni is the coirect

1. Whichone of the following things mast likely riesds air, fod and water t6'stay
alive?

[ Afeddybearonabed ~ (&) Apar of glasseson myface

2

They: ieprodiics b
They are:Hor ngs.

{3} Theyicanbe elassifisd as Microorgaiiisms.

{4) They-cannol survive outside a hiuman body. t )

{22 miarks).
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Rosyth Schookipighied Assessment OnalScieace/P3

3: Sammﬂcﬁdihathﬁpe%‘da@Sh?vefedWhllehﬂWBSbﬂlhlﬁQ it

o Hir. fo¢

4, The'table belo

¥, found at e, Shie stated their characteris

i ood and water 1o survive..
things can respond to changes around them:

tings, W: X ahd
e table below.

| Charagteristics

Y

Yes |
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' ‘Rosyin SchoolMiziohted Assessment Die/Stiercaibd

5. Studythet

y the classilcationtatis Sarotilly. The:anials below are giouped i s
groups, G : _

The above animals aré;grouped according to___

(1), what they eaf

the way they move

thieir body. coverinigs

theinumber of legs they hiave: « )




‘Rissyh SehbolWeighied Assessment OnefStiencelPd

6. Kok Ming observed some fungi grawing ob his feet.

fungi

What i & good-advies fo reducs the:growth of ifie funigi on his feet?:

)
(2) 2t
3 W Y Op!
(23] :Du.not FEION _,thedead skin o his Teet.

Do not: wear-sm’ks _

7. Thebowls used:in g'schoo} canteenare usually made of plastic inslead of glass.

plastic bow!

:!
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Sandy wants. t6:irstall & window grile 58 SHown Below .

__ window
- gillle

A'window grillé st be: e

e

@
)

(G

stroig;
flexible
waterp Hof’
transparent

A-and B only

A.and G only

Band only

B and D 6inly ¢ )

A:Similar §ize wateér. droy !et:s'dmpped onte DapETs; A and B.. 'Ehe observamn is
as shown:below afier five-minotes;

= paper

=it piatch:

Whichionig of the following statements is sorrect?

__m

PaperA:s more absorbebt than f
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Rosyil SehgoWeighted Assessrient OnelSeibnce/P3

fi-we want to'carmy’ ‘objects v which wefgh 4%g,-which’ piasﬂc bag(s) canibeused?

Ay Aonly

2y AandDionty

{3) 'Bidnd Conly

14y  A;Band Dotly L& )]

41, -Annié wants o -buy a materal o make & fowel. The: propenties {materials, P, @,
R-and: S are shown below Afick: (\/._ mdlcates tha% t‘he maienal has the property:

[“Waterial | Waterproof | Flex:b_l_e - Auows l‘lghtto pass through _
Ll

e ‘{ T st

|l =) B
£

Whichis the most suitable maierial she should choose fo make & towel?

{1y P
@) «q
B R ) _
4y S { )



12

Rogith Sehndliveighted Assessment OnglSciericapa

For quistions 12 to'16. wrile your arswers n the blariks provided, {18 matks)

Sarsh:bought four fishes and put them in a fish bowl as shown below,

‘fish bowl

(8} Tick ()4l the conditions neededifor fhie fishes fo survive, .

b

()

(d¥

[ T

One day. Saiah rioticed that this fishes kept swimming near the surface of the

water,

Explainwhy the fishes were swimming neat the surface of the water, (1]

Eould Sarahdoto prevent the fishes from swirming ngar the surface of

the water? X

This shows that fiving things can' SUSUEEEE
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(a)

®)

@

“Rogy Schasifieijbied fissessmiett OherStignce/P3

‘-S-ibfﬁiifﬁﬁéfTiﬁi-ﬁiﬁﬁeé"ﬁfﬁibé:ﬁvéiéﬁimai'é'.;}x and Y; below,

Anfroal X AnimalY

Which anieal gigop doss Animal X belofig to? Juif

Stite 1w reasens why Animal Y cannot be placed ir the same group 38
Anim '

2]

Reason’ ¥

Reason 2

In{erimis of reprodustion, state. a simitarity betwesen Animal X andY. 15,‘1‘]‘:
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Rosyth Sthaclieighteit Assessmiént OnsiSeisnia

1. The flow chart below shows fhe characteristics of iaterials: A: B Gand D,

| material |

Does It aliow fight s
to pass fhrough? "

~ spitled-ink

(8) Which of the: foI!owmg miaterials below-gre. representéd by fetters A, B, Cord?

Wnte the lettér i in'thie bok prowded [1]

Ceramic [:
Clear Glass: :

(8 State'a similafity between matsrial B and 6 g

© i th word i the qusstion

covEred by‘ the spxiled ':nk, b the Tlow ehart? i

Eigg;‘éceig;;:______‘..:;_, — 7

10
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Resiti SchontiVuighted Assessmarit One/SoincelCl

woodenBlock | Diagm1

3kg weight

s e

he middle of materal X. Andrew measured the
ated the experiment using matefials, Y

ording 10 their flexibility.

(o fronge )

b miterial, X, Y of Z, i most suitable for
121
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‘Rosylh SchoolWelghied Adsessmant GherScibncerP3

dre: shown: i the: table bélow A tiek {Q..r' indigates. th
proparty.

Property,

'F Flexible
Watefpmof N

{ Fioals on water- e

\ h'ht to passthrough,

RN

(a) Based on the results table above. Sﬁi'iitﬁ&??t?i'e'ffb\f;ff?-aﬁf@pﬁéﬁfés:-Of‘ T. B

(b} The diagram below shows thie lshises of a pair 6 glasses.

lenses. <~

Bas_,_eq en the fesiils tab!e above exptatn why matenal S i& ot suitabie k(o) be

uséd as the fensesofa ‘pair’ of glassefs’? 2]

End of Paper

12
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SCHOOL

ROSYTH SCHOOL
LEVEL  :  PRIMARYS3
SUBJECT SCIENCE .
TERM WEIGHTED ASSESSMENT 1
BOOKLET A

BOOKIETB -~
Q12 a} Tick Air, Food and Water
b) The fishes were swimming near the surface of the water because there
was not encugh air to breathe,
¢} Sarah could buy an air pump that pumps air into the bowi so that the
fish can breathe.
d) reproduce
Qi3 a} Animal X belongs to the group of insects.
b) Reason 1: Animal X has six legs, but Animal Y has four legs.
Reason 2: Animal X has three body parts, but Animal Y has one body
part
¢} Both Animal X and Y lay eggs
Q14 a) Ceramic: B
Clear Glass: A
b} Both materials B and C do not allow light to pass through.
¢} Does it sink in water?
Qis a) ZXY
b} Z, itthe least flexible and a food tray needs to be not flexible so that the
food would not spill when it is being carried with the tray.
Qil6 a} Material Tis flexible, waterproof, able to float on water and does not
allow light to pass through.
b) Material S is not suitable because it does not alfow fight to pass through
and lenses needs to be transparent so you can see through them.
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